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Which of the following is the correct ST unit of the velocity?
(1) ms® (2) ms” (3) m'S (4) m’S

Which is the correct velocity time graph for the motion of an object thrown vertically down words
with an initial velocity of U?
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Displacement time graph relevant to the motion of a ball is shown below.
What is the velocity of the ball? Displacement

(1) 0.5ms" T
(2) 18ms’
(3) 9ms”
(4) 2ms”

> time

0 3

What is the time taken by a stone to reach the velocity of 36ms™ which is made to fall down vertically

with an initial velocity of 6ms™ (g=10ms~)
(1) 3S (2) 3.6S (3) 3.5S (4) 10S

The velocity time graph given here is relevant to which v

motion given below.

A Starting from rest moving with a uniform velocity
and coming to rest.

B Coming to rest after moving with a uniform
acceleration.

C Starting from uniform velocity, then moving with a
uniform acceleration.

D Coming to rest after moving with uniform acceleration
The time statements from the above are,
(1) onlyBand C (2) onlyB,C,andD (3) onlyA,BandC (4) onlyAand B

Aball is thrown vertically up with a velocity of 40ms™. The total time taken by it to fall on the ground
are.
(1) 4S (2) 8S (3) 28 (4) 16S
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Avelocity of 20ms™, when represented in kmh is equal to,

(1) 20x 1000 (2) 20x60 (3) 20x 1000
60 x 60 1000 60 1000

Both are vector quantities from the following is,

(1) Speed and velocity

(3) acceleration and mass

Which is the correctly written ST unit for meters per square seconds?
(1) ms”

Which is the scalar quantity?
(1) Force (2) Displacement (3) time (4) Acceleration

The velocity tome graph for the motion of a fruit is given below.

(@)

(2)

(b)

(c)

(d)
(e)

(4) 20x 60 x 60

(2) Velocity and acceleration
(4) Pressure and time

(2) ms” (3) ms’ (4) m”S

Structured Essay Questions

A

> t(s)

Find the velocity V, using the graph

.......................................................................................

.......................................................................................

If the mass of the fruit is 60g what was the potential energy of the fruit, when it was on the
branch?

.......................................................................................

Sketch the displacement - time graph for the motion mentioned above.

(02)
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02  The displacement - time graph of an object moving along a straight line is shown in the diagram

01

below.

Displacement(m)

20

f f f f f 5 f f f t t ; » time(s)
0 5 10 15 20 25 30 35 40 45 50 55 60

(1) How far has the object moved after starting from rest?

Essay Questions

Consider the following data relevant to the motion of a bicycle rider in a straight line path from a
certain point.

Time (S) 0 1 2 3 4 5 6 7 8 9 10 11

Displacement(m) 0 2 4 6 6 6 8 8 7 4 2 0

(1) Sketch the displacement - time graph for the motion of the bicycle rider
(i1) Describe in briefthe motion of the above bicycle.

(111) Whatis the displacement of the bicycle during the first 6S?

(iv) Calculate the rate of change of the displacement during last 4S?

(03)
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02  Acarwasmoving in a straight road. The driver suddenly applied the brake to stop the vehicle.

V(ms")

) ; 1 t t Y >t(S)
0O 5 1015 20 25 30

(1) Describe in brief'the motion of the above bicycle.

(i1)) Whatis the distance the vehicle traveled from t = 0 until the brake is applied?
(ii1) Whatis the deceleration of the vehicle occurred by applying break?

(iv) Whatis the displacement of the object after 10S?

(v) Sketch the displacement - tome graph for the motion of the object until the brake is applied.

(04)
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